

Penthouse in Zebbug



Zebbug, Central



€380,000

Reference No: 240171008-5157

 Total Rooms: **6**

 Floor Area (m²) : **110**

 Bathrooms: **2**

 Bedrooms: **2**

Penthouse - For Sale - Zebbug

Zebbug – Situated in a quiet residential area enjoying lovely views, this penthouse is being sold finished, including bathrooms, but excluding internal doors. The layout comprises an open-plan kitchen, living and dining area, a main bedroom with en-suite and walk-in wardrobe, a study, and a main bathroom. Located in a newly built block that is mostly complete, the property also boasts a spacious terrace ideal for entertaining and another smaller terrace at the back. optional 1 car Garage with storage space for 66k

Features

- ✓ Lift
- ✓ En Suite
- ✓ Terrace
- ✓ Ceramic Floor
- ✓ Entrance Hall

Rooms

- ✓ Kitchen/Living/Dining : 5.59 x 5 m (27.95 m²)
- ✓ Hallway : 4.4 x 1 m (4.4 m²)
- ✓ Double Bedroom : 5.4 x 3.4 m (18.36 m²)
- ✓ Double Bedroom : 4 x 2.94 m (11.76 m²)
- ✓ Bathroom Ensuite : 2.4 x 1.52 m (3.65 m²)
- ✓ Walk In Wardrobe : 1.58 x 1.54 m (2.43 m²)
- ✓ Bathroom : 2.7 x 2.2 m (5.94 m²)

Gallery







RE/MAX Specialists - Tigne Point Sliema

RE/MAX Specialists - Tigne Point

M: 21339121

E: tpt@remax.com.mt

T: 21339121

RE/MAX Specialists - Tigne Point

RU21A, The Point Shopping Mall, Tigne Point, Sliema, Malta